Midterm #2
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1. Consider the vector field defined on R? — {(1,2)} (that is, everywhere except the point
2)) given by

F— z-1 y—2
Vie—12+y-22 z-172+(y-2)?

(a) (10 points) Is F a conservative vector field on the domain R? — {(1,2)}? Justify
jour answer.
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1. You must cxplain your reasoning.

(a) II() ] nts) Dete whether the flux line integrals of the vector fields along the
€ nted ¢ s are positive, nt‘gnn\'v. or zero.
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(b) (10 points) Draw an oriented curve C' from P to @ such that [ (F-n) ds =0, but
Jo F - dr > 0.
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(c) (5 points) Write down a vector field such that for the two curves C; (left) and C-
(right), we have [, F-dr # [, F -dr.
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